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QUESTION 1

Routing policies contain which two types of statements? (Choose two.)
A. then

B. from

C. default

D. and

Correct Answer: AB

QUESTION 2

Which command will silently drop a matching packet?
A. set routing-options static route 10.1.1.1/32 no-retain
B. set routing-options static route 10.1.1.1/32 discard
C. set routing-options static route 10.1.1.1/32 reject

D. set routing-options static route 10.1.1.1/32 passive

Correct Answer: B

QUESTION 3

What is correct regarding the configuration shown below?

static route 0.0.0.0/0 qualified-next-hop 172.30.25.1 preference 7 next-hop 172.30.25.5
A. The next-hop 172.30.25.1 is selected because the address has the lowest value.

B. The next-hop 172.30.25.1 is selected because it is listed first.

C. The next-hop 172.30.25.1 is selected because it is the lowest protocol preference.
D. The next-hop 172.30.25.5 is selected because it is the lowest protocol preference.

Correct Answer: D

QUESTION 4

You are in configuration mode at the top of the hierarchy. You need to abort the changes that you have made and start
again with a fresh copy of the active configuration. Which command should you use to accomplish this task?
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A. rollback O

B. load active

C. reset config

D. clear candidate config

Correct Answer: A

QUESTION 5

Hit [Enter] to boot immediately, or space bar for command prompt. <user
presses Spacebar> Type '?' for a list of commands, 'help' for more detailed
help. loader> boot -s

Enter full pathname of shell or 'recovery' for root password recovery or
RETURN for / bin/sh: recovery

Referring to the exhibit, what will be the result?

A. The device will boot in single-user mode at the operational prompt.
B. The device will boot in multi-user mode at the configuration prompt.
C. The device will boot into single-user mode at the shell prompt.

D. The device will boot into multi-user mode at the shell prompt.

Correct Answer: B
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